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1. What is the unknown number 
in the following equation?

1 + ? = 9
A. 4

B. 7

C. 10

D.8



2. What is the unknown number 
in the following equation?

? – 15 = 3
A. 20

B. 18

C. 10

D.9



3. What is the unknown number 
in the following equation?

? + 12 = 18
A. 4

B. 9

C. 6

D.16



4. What is the unknown number 
in the following equation?

17 - ? = 4
A. 13

B. 4

C. 10

D.3



Oops, that was not the right answer. 
Click the question or arrow that you were on 

to try again!

Back to Question 1

Back to Question 2

Back to Question 3

Back to Question 4



Congratulations! Click the arrow or 
text to proceed to the next 

question!

Go to Question 2

Go to Question 3

Go to Question 4Click here when done with question 
4!



GOOD JOB! YOU’RE ALL DONE WITH THIS QUIZ!


